ECONOMICS
Paper 11

EOMIE

gyuttent 11
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.
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1.

If X and Y are perfect substitutes
and Py < Py, then the Engel curve
depicting the relationship between
income and optimal choice of X would

be :

(A) Ray from the origin with slope
= PX

(B) Ray from the origin with slope
= PY

(C) Negatively sloping with slope
= PX

(D) Negatively sloping with slope

=PY

S X S0 Y A1 %] TehHRAT GO gH =T

FEATA M0 Py < Py 318 0 S

AT X Il veqd fHas I

T TIEUR USo9] a6 8 3™l

Y.

(A) Py WeIOTr=l SR STOMT o

(B) Py WeUT= SRR STOMT {0

(C) Py WUl 3T&clell BU SARTE

dsh

(D) Py 9aUTdl AT /T AR

EED
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Price elasticity of demand is :

(D

(ID

(A)
(B)
(®)
(D)

same at all points on linear
demand curve

different at different points in case
of all non-linear demand curves

I is correct but not II
II is correct but not I
Both I and II are correct

Both I and II are wrong

Consider a point where straight line
from the origin is tangent to the total
cost curve. Which one of the
following is true ?

(A)
(B)

(C)
(D)

Marginal cost is minimum

Average variable cost is

minimum
Average total cost is minimum

Average fixed cost is minimum

If there are constant returns to

scale, then the tangency points

between the short run average cost

curves and long run average cost

curves are at :

(A)
(B)
(®)

(D)

the falling portions of SACs
the rising portions of SACs

initially at falling portions and
then at rising portions of SACs

minimum points of SACs

2.

il fegd 9 wafasar &

(D it At sepredia wd fegamed
THHE A

(ID) Hef= R AFTOeshial Jds
ToGURN 9= 379d

(A) faam I sk =g 11 7=

(B) faum II sleR wg 1 A&

(C) faum I & II, S =R

(D) faum 19 II, =1 9%

SRR TTevm ©es o1 T e

ThTen a1 fagumell T99 & Sd 37|

fog @@ =1 @1 fogurl @meiaden

FHoell TR W FEd 7

(A) I\ " fRaE 3Hdl

(B) OUE{ deddl T fRAM 3Tddl

(C) Tl WY T fRAM el

(D) IO R 'e feaE o19al

IAEAT SR e AT YoId STl

T SACYHRIGE FUHU ©E g%

?ﬁmﬁﬁ'—rm@a‘waﬁamﬁfﬁ@

(A) IHCUHTCA FUHH W k=1 3Tl
AT ST

(B) 3Tc9aRTAN TUE EE geh=A1 Jac]
O 3T

(C) HEamdlell 3TeUeshici T oshreA]
IALHT 9T ST Fal <T@l 9rTd
Adre

(D) ATIFREAHE TEL T Fam

foga srdta
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If monopolist faces unit elasticity

demand curve, then :

(A) MR = MC in equilibrium

(B) MR < MC in equilibrium

(C) MR > MC in equilibrium

(D) MR < MC and equilibrium does

not exist
In Cournot model of duopoly :
(I) Each firm maximizes profits
(IT) Joint profits are maximum
(A) Statement I is correct but not II
(B) Statement II is correct but not I

(C) Both Statements I and II are

correct

(D) Both Statements I and II are

wrong

‘There is no ideal way to aggregate
individual preferences into social

preferences’ is :
(A) Second Welfare Theorem
(B) Arrow’s Impossibility Theorem

(C) Samuelson’s Impossibility
Theorem

(D) Walrasian Impossibility
Theorem

5.

SR TRl Usheh AAargehd=al AU
Tl IER SE N 380 W

(A) FHIAT GHR W = TR T 3
(B) TR G Wt < S T 315
(C) THAA TR el > HH T e

(D) T 9Tt < GrHd ©" 379 T
THde A JUR ATET

FArA JfaaEE

(I) Y& SEUMEEAT 9% HedH
Bl

(II) §g HEN Head el

(A) faum 1 afex 93g 11 e
(B) faum II seR og 1 =l
(C) faum 1 anfor II S aeR
(D) faum I enfor 11 =1 9%

‘Safeds Todi=a g TEdEe
Theh 01 HIUIATHT TS ANl 5.’ &
Fvar fagr e ?

(A) fgdm s fagr

(B) 3= smEar fagr

(C) HgaET weal fagr

(D) dfedr=n A¥Egar g
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10.

According to classical approach an
increase in the quantity of money

will lead to :

(A) an increase in output

(B) an increase in employment
(C) an increase in prices

(D) an increase in velocity of money

In standard notation if C = 300 +
0.8Y,1=600, G =200, then a rise
in I by 100, will cause income to go

upto the level :
(A) 5,000
(B) 6,000
(C) 6,500
(D) 7,000

Hypothesis which states that
with the reduction in income,
consumption does not go down,

is known an :
(A) Wealth effect
(B) Price effect
(C) Income effect

(D) Ratchet effect

10.

ATTATGT TR MR Tt gfTomd
G HATATE WTeATATeh] IVl e Terd
IR

(A) e
(B) TR
(C) fanm
(D) TeTr=n =T

gHIOIRd EREATER S C = 300 +
0.8Y,I=600,G =200 3™ 3HcH
1159 100 7 918 HAedd Sc-Idel arerdl

TR WeATedeh] Shival Ted 2

(A) 5,000

(B) 6,000

(C) 6,500

(D) 7,000

SCTIT e e SUHNT S 8| el

1 IR ETeTeAdsh] ShivTdl TrumA

U ?

(A) Tt gfom
(B) ferma uftomm
(C) 3= Uit
(D) =Afafd gfoms
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11.

12.

13.

With the expectations that the bond
price will fall in future, people will
hold :

(A) Less amount of money

(B) More amount of money

(C) Same amount of money

(D) Money-independent of bond
price

If the money supply (M) = 4,000 and
the money multiplier = 4, then the

value of high powered money will

be :

(A) 500
(B) 1,000
(C) 1,500
(D) 2,000

Business cycle occurs in Samuelson’s

model depending on :

(A) only value of multiplier

(B)

only value of accelerator

(C) both the values of multiplier and

accelerator

(D) irrespective of values of

multiplier and accelerator

11.

12.

13.

AUG-112111

feeerTeard sasme fhada e ega

S e | B T e e s | i £ B o

(A) FH T FmeEra

(B) it T A

(C) Y&t amesvd 2d degerd el

(D) 91 ST HaH S TIAE
SIEUR rErd

ST eI qREel (M) = 4,000 3o S
T = 4 38A R TH&H o= g

-

N N .Y -~ =~ r
ETATAYehl hIvd el 7

(A) 500
(B) 1,000
(C) 1,500

(D) 2,000

TG T=41 YiTHMATd SATIEshE 3qHal

@efiedeh] HYMea Faadd 3d ?

(A) Thekd TUTShT=AT HedTeR

(B) T IRT=AT Hodel

(C) VTR VT @ A1 SrereAl HedmaR

(D) TUTEw AT ETHT=AT HEATei
Yaiferd At
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14.

15.

Expansionary monetary policy
becomes ineffective when the
equilibrium occurs in this portion of

the LM curve :
(A) Horizontal
(B) Vertical
(C) Falling
(D) Rising

As per the Singer-Prebisch thesis,
international terms of trade can
become adverse for developing
countries

exporting primary

products due to :

(A)

High income elasticities of

demand for primary products

(B) Development of synthetic

substitutes for primary products

(C) Competitive markets for

synthetic goods

(D) Higher level of human capital

development

14.

15.

foeart difger dRor safommeRes 24
SiegT FHAld LM gsT=ar 91 9rd

el

(A) ferfesraema
(B) fafersier
(C) =

(D) =@

TomR-Uferer wHaER, Wgfhes 3aae e

ORI HHS  UldeRd B

Yehard ?

(A) wafyes SGEE=a "rTviEl 39

39— eTafraehdl

(B) wefien sg=a1 Tarsil S g

IEEAE:]

(C) Ff\ I TUPH SR

(D) HHel Wigad faemEm=T 359 et
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16. Income is transferred from some

17.

households below the poverty line to
those just above the line. In this
context which of the following

statements is true ?

(A)

The head count ratio increases,

but not the poverty gap ratio

(B)

The poverty gap ratio increases,

but not the head count ratio

(C) Both the head count and the

poverty gap ratios increase

(D) Neither the head count nor the

poverty gap ratio increases

The socialist model employed for

capital accumulation in the

erstwhile Soviet Union involved
movement of terms of trade

against :

(A) The agricultural sector
(B) The industrial sector
(C) The foreign sector

(D) The services sector

AUG-112111

16. Tty IT=AT WIS AGATIT FHTel

17.

FHAheT oAl JH TH TR STEeT
FHAhe Iq-TH TR Bl I HRHH
TRt v fagm @ e ?

(A) =AfF TEH=A ORI 916 81d TRy
3IEd qwEd Ui de 2id

Rl
(B) TIE qWhTed O aTed ILg e
&A1 U 9@ el ATl
(©) =IfF T TR e SR
TEEd ORI de B

(D) =afF &= TR e SIEa
TEEAE O AT Sl A A8
EiEIG]

STCed FHSER! FRHMER, SR
T IV SATIS HideRdl Blol STrod
Bd ?

(A) Fo &

(B) STENfTeh &=

(C) foesft &=
(D) Hem &7
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18.

19.

The maximization of the rate of
creation of investible surplus
and

criterion of Galenson

Leibenstein involves :

(A) Maximization of real national

income in the current period

(B) Maximization of per capita real

income in the current period

(C) Maximization of real national

income at a future point of time

(D) Maximization of per capita
income at a future point of

time

A Ricardian economy enters the

stationary state due to :
(A) Constant long run wage rate

(B) Falling share of rent in total

output
(C) Rising rate of profit

(D) Falling population growth

18.

19.

eT[eh- 31 e G HewqHIeh o=l

TAT9 o esaTeEy Irea1 [

Qe Hvd AfHa TR ?

(A) T IR T 3=
HEqHIHT0

(B) TP TIEE arEdd e

THETHIH L]

(C) wfaTehiesd arda TE Sca=Td
HEqHIHT0

-

A

(D) wfasg=TeTa SIUE I

THETHIHL0]

freprel yofta steiemerwen wemes feer

= ~ =
3Yd Ya9 Fkid ?

(A) feer St aa7 X

(B) THU IURAM CESEl Hedl HMel

(C) Hr= dled <X

(D) TR SAREE gl
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20. The two gaps referred to in a
Chenery and Strout kind of model

are :
(A) Technology and saving gaps
(B) Technology and trade gaps
(C) Savings and trade gaps

(D) Savings and output gaps

21. The correlation coefficient between
ranks of countries by per capita
income and ranks by human

development index is :
(A) Below 0.1

(B) Around 0.33

(C) Around 0.66

(D) More than 0.7

22. Grants in aid under Article 275 are
affected through :

(A) Planning Commission
(B) Sarkaria Commission
(C) Finance Commission

(D) Election Commission

20.

21.

22.

=L S WIEE YA UfaaHd oo

$olcdl o dEEdl e ?
(A) TIFH o F9d dEREdr
(B) 959 9 AR dwed

(C) s=¥d 9 AR dweEd

(D) 99d 9 3T dwEd

=

SIEIE ICAITER Q9= A S0 /e
fom FEYTRTTaR 9 % A=A

qeqay Ul @elerde] Hivdl 3Te ?

(A) 0.1 U&m FHH
(B) 0.33 =1 e
(C) 0.66 =T Sda3qTH

(D) 0.7 U&T S

TSTEE=AT 275 FHEAANS RV ST
AThd ERE& TSMHE ey HIvAm

Iy ?

(A) A AN
(B) SRR 3R
(C) fom amam

(D) e smam
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AUG-112111

23. The ratio of own revenue receipts of | 23. TAT=AT WA= Hﬁb;_l\m'\l fHeserdi =
a state to its total revenue THUl HeYgell @il GHI A FHE
expenditure is referred to as : g g ?

(A) Tax efforts (A) ah—{_arq\?ﬁ P pre

(B) Fiscal discipline (B) TSRS foTe

(C) Fiscal adjustment (C) TSHTE THESH
(D) Fiscal capacity distance (D) TS &Ha R

24. The criteria used for devolution of T e e e TP B 1
proceeds from central taxes by 13th S TR %@ S ]
Finance Commission to foster fiscal A e S e S
efficiency among the states is : — e
(A) Fiscal capacity distance (A) TEEE ST S
(B) Tax efforts (B) & aﬂjﬂ' e
(C) Fiscal discipline (C) TR for
(D) Infrastructure distance (D) SR S e

25. Th i ted fi i - 5

e service exempted from service - e -
tax is :
S ?
(A) Transport of coastal goods
A) TEfEAFIEES AV ATearegs
(B) Transport of goods by Air (&) ¥g
Services (B) fammER BT ACTETRdS
(C) Transport of goods by Rail (C) THER B HreTeTeqs®
Services )
(D) forga fafT9a SsER 3=y hete
(D) Service provided by electricity o
exchanges
10
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AUG-112111

26. In which economic activity the | 26. YA HII A(dF SEERA HeT=
Government plays key role ? fHeRT e 2
(A) Creation of monopoly power (A) HFGRT e
(B) Provision of public goods (B) WESIeh &gl T LA
(C) Provision of impure public (C) g 9Edes aKHEl  as
goods ETLeiG
(D) Destabilize the economy (D) IFaed= ARAHo FLoa
27. Which one of the following fiscal | o7 gFfieiigd =Fvm  ToET  IT=
measures bring fiscal stability in the . .
Aefegazed USRIty fremar fAafor
economy ?
EIGIGEN
(A) Reduction in non-plan revenue '
expenditure (A) ISR AEgdl BEa wHe
(B) Increments of grants to states )
(B) T=Ir=A1 AISEE 96
(C) Increase in public borrowing
(D) Reduction in capital (C) WESHS I 918
expenditure (D) sieae @ =5
28. The ultimate aim of the Medium 98 et o 3 X i %_‘L
Term Fiscal Reforms is to : S >
(A) Bring down debt to sustainable @A) w9 R A & whq gefd
level
(B) TSRIEE qeld a@ w0
(B) Increase fiscal deficit
(C) =] ErEda g2 HH FH0
(C) Reduce current account deficit
(D) AT FHHT FHO
(D) Reduce subsidies
11 [P.T.O.
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29.

30.

31.

Eurocurrency is :

(A) Commercial bank deposits in a
nation denominated in a foreign

currency

(B) Currency used by the European

Union

(C) Currency used by the European
Union to give loans to the other

countries

(D) Commercial bank deposits in

the US

Special Drawing Rights have been

created by :

(A) Asian Development Bank
(ADB)

(B) International Bank of
Reconstruction and

Development (World Bank)
(®);
(D)

UNCTAD
International Monetary Fund
(IMF)

The Gold Standard was operating
from :

(A) About 1880 to 1914
(B) About 1850 to 1915
(C) About 1900 to 1929
(D) About 1900 to 1945

29.

30.

31.

FReEE a8 wE AR ?

L’
=
3

3

(A) TEmEN M anforsy &
1 ferezl W@ HAed

(B) JUdHE oM dTWelel e

(C) TR W w TR UG
RRIE RIS IS

(D) srafehdie anforsy sehdia et

fagre afmeor sfysRr (SDR) shioft fafor
S ?

(A) IEE 9™ o (ADB)

(B) wMfass &% (IBRD)

(C) 9gH U Gur=l AR o foehrg

uftvg. (UNCTAD)

(D) AR T (IMF)

gavi qfAT wIUAT FHTAT FHTEAL
qd ?

(A) 1880 d 1914 =1 YARM

(B) 1850 d 1915 =1 AWM

(C) 1900 d 1929 =1 YANH

(D) 1900 d 1945 =1 YANH

12
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32.

33.

34.

Import substitution Industriali-
zation is :

(A) Encouraging Imports of

manufactured goods

(B) Replacement of imports of
with
domestically produced goods

industrial goods

(C) Replacement of Exports with
Imports

(D) Encouraging Imports of

essential goods

The concept of Immiserising growth
was postulated by :

(A) Jagadish Bhagawati

(B) Avinash Dixit

(C) Paul Krugman

(D) Meltzer

Optimum tariff is :

(A) Tariff that increases the exports
(B) Tariff that decreases the exports
(C) Tariff that helps to improve the

country’s balance of payments

(D) The rate of tariff that maximises
the benefit resulting from
improvement in the country’s
terms of trade against the
negative effect resulting from
reduction in the volume of

trade

32. AT TIHTRTOT AR =S

33.

EIE s
(A) TETHT A=A S Jede <ol
(B) SirEifieh aiqea A=l SheR

L}

eS|

AT %] 3]
(C) frafdrean SFeR 3T SAToT9]

(D) TATYTS TG A TR
=l

SRR STTHIGE! FehedT Il J&qd
el ?

(A) STETY 9Terdt
(B) Afammen <ifera
(C) Uia A
(D) HeZZR

34. THE UYeHh WIS w1 ?

(A) fraid aEfEaTR yyes
(B) frafa =l wOR yylesh

(C) V=T HIeRAd GURUATE Heq
FOM TR

(D) Yok X Sl I9M=A SAMR i
BV GUROe o e
SR SRR B0 B o8

SN RO qRomHT=A gerd

(a} ~
HetH[h{Ul ondl

13
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35.

36.

37.

An example of Customs Union is :
(A) SAARC

(B) EU

(C) NATO

(D) Both SAARC and NATO

Which of the following statements
about WTO is not true ?

(1) It seeks to make international
trade free by establishing
predictable and transparent

ground rules

(2) It promotes capital flow from
developed to

developing countries

countries

(3)

It provides mechanism for trade
negotiations

(4)

It works as a nodal agency for
settlement of trade disputes

(A) Statement 2
(B)
(C)
(D)

The Generalized System of
Preferences (1971) was introduced
under the aegis of :

(A) IMF
(B) IBRD
(C) UNCTAD
(D) WTO

Statement 4
Statement 1
Statement 3

35.

36.

37.

EICTUhT IV SATIRT T SATEX0T
- 7

3ie ¢

(A) <faror sfyram TRy Teer TeeT
(SAARC)

(B) T ¥9 (EU)

(C) I 3ediesh HIR oA (NATO)

(D) SAARC 3mfor NATO =il

SIATfaeh SR Hoe A=A HeHid Jeraden

o faum =R A ?

(1) YasheATcHsh o RGN 3™ Jaiud
1o J9F AER A AR

el A I FHeAl &

foenfaa Sehed Wreaaral i
forgsiial Seliere @l =U[
PERNIGEE

ATIRSTSA FeTee] HUAEE!
o I H

AR foere ferdd =oE
e Teh GHFH L BUH FHA

(2)

3)

(4)

fasum 2
faum 4
(C) faum 1
(D) faum 3

W= FEEERe 954 (1971)
I JERRE & Al 2

(A) IMF
(B) IBRD
(C) UNCTAD
(D) WTO

(A)
(B)

14
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38. Statement I : Compared to the

12th Finance Commission, the 13th

Finance Commission has
recommended about 80% higher
amount towards grants-in-aid

transfers.

Statement II : As compared to the
12th Finance Commission, the
percentage share of grants-in-aid
transfers recommended by 13th

Finance Commission has fallen

(A) Both the statements are

incorrect

(B) Statement I is correct but the

statement II is incorrect

(C) Statement I is incorrect but the

statement II is correct

(D) Both the statements are

correct

38. faam I : srren foq smamm=a gerqA

e fod AT HWerRdE SRl
AT TR AR 80% i a1E
el o

faeam 11 : sreen faw smEmmr=ar ey

e AN RIARE{ER. Hereaeh

QM TFhAN AT | Tl

3]
(A) o0 Tl faum =& smed

(B) =iiaident fasm I sl o1 faum

I 9% 378

(C) Tt faem 1 9% 319A faum

II =&l 318

(D) =i Sl faem aeT 3T

15
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39. In respect of Fiscal Responsibility

40.

and Budget Management Act, the
following statements are made :

(1) It lays down limits for revenue
deficit and fiscal deficit as a
percentage of GDP.

(2)

It is applicable to central as well
as State Governments.

(3) It does not permit the Central

Government to give guarantee
to loans raised by PSUs and
State Governments beyond
0.5% of GDP.

(4)

It recommends an upper limit
for the liabilities of the
Government.

Which of these statements are
true ?

(A) (1) and (2) only
(B) (1), (3) and (4)
(C) (2), (3) and (4)
(D) (3) and (4) only

How much percentage share of states

AUG-112111

39. foxitg Sameeil 9 IENTIHS HTLA

FEE W[ Jerd f9u el 9|

(1) T SW=AT SedreTean Tt 2o
Hegail 2 o faxiia g2 et A=)
TRl A1 HIFEH A S

B HEET F5 TR 9 59 TR
A AN AR,

(2)

(3) HESH LAIA STHH 9 Y

TR AT SHRASAT helidl g
A Tl gHl T U
SARAAT 0.5% &1 ST WS
T YA 3d AT

HLhITHT TeRUT Uil fehdl STEmEd Frer’

T HES] FHHA HIAR] =l
JUcdeht AT fasm = 3ed ?
A faum 1) 3 (2)

(4)

B) fagm (1), (3) 9 (4)
(C) fasm (2), (3) 9 (4)
D) faum (3) 9 (4)

: . 40. 13=7 fax EMH s e
is recomrgended by 13th Flpance T S R e I
Commission on the basis of o e o
population criterion ? R CLEEU
(A) 20% (A) 20 2%
(B) 22.5% (B) 22.5 ZFh
(C) 25% (C) 25 ZFh
®) 10% D) 10 =
16
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41. Pertaining to National Agricultural | 41. I FH RO 2000 STTHR VAR
Policy 2000 which of the following FIUE fFu™ SOET oRd 2
statements are true ?

(1) ot it vafid el 39 @E
(1) It aims at promoting Sfewe o
sustainable agriculture.
@) Tt emphasizes the devel . (2) <Id UYEA ferehtd, sRerepedTa,
emphasizes the developmen
. YfaeRm™ o A Il FAreR W
of animal husbandry, poultry,
dairying and aquaculture. .
(3) It recommends the imposition of (3) T IS SCHTAL T FHITATI
tax on farm incomes. formrRE e
(4) It recognises women’s rights in (4) SR fommEmR 5w STHe &
land w/ed AR
(A) (1) and (2) (A) fagm (1) 9 (2)
(B) (1), (3) and (4) (B) faum (1), (3) 9 (4)
(C) (1) and (4) () fauam (1) 9 1)
(D) (1), (2) and (4) D) fa&m (1), (2) 9 (4)

42. A company is classified as ‘sick’ when | 49 v faxfrg gufen v U@ U
the accumulated loss at the end of A e T T T T AT
any financial year leads to how R T e sEE, @ @
much percentage erosion of its P R I
networks :

(A) 25 TFh
(A) 25%
(B) 75 =h
(B) 75%
(C) 50 =F=h
(C) 50%
(D) 51 ZFh
D) 51%
17 [P.T.O.
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43.

44.

45.

If Xy and X, are means of two
samples having size N; and N,
respectively, the combined mean of

the two samples will be given

A) (X + X,)/2

(B) (X, + X (N, + Ny)

(©) (N;X; + NyX,)/(N; + Ny)
D) (X, + X, /N

Sum of deviations of a variable from

its mean is always :
(A) positive

(B) negative

(C) one

(D) zero

In binomial distribution if N = 100
and p = 0.5, then the mean of the

distribution will be :
(A) zero

(B) one

(C) 50

(D) 100

43.

44.

45.

N, 3701 N, SRR STEeiedl S T
A X, 370 X, STEeA™, A SH T
T A8 ¥ A8d

(A) (X, +X,)/2
(B) (X, + X,)/N, + N,)
(C) (N,X, + N,X, /Ny + Ny)

D) X, + X,/N

TEITE FTedl ATEATIgAed] e
foreron= = JF=H=

(A) &9 37 d

(B) R 31Hd

(C) TH I

(D) = FEA

fgudt faquomaed sk N = 100 awfor
p = 0.5, W faatoma @127 1 @ ?
(A) 3=

(B) T

(C) 50

(D) 100
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